o &

TEMPLATE FOR 62F SERIES MAGNALOCK (FACE MOUNT)
Il WARNING: DO NOT DRILL INTO MAGNET OR STRIKE FOR ANY REASON !l

. See installation instructions and Z—Bracket instructions for full information and troubleshooting.

. The relationship between the four magnet mounting holes is critical. Do not let your marking

or drilling wander.

Do not overdrill the diameter of the 3/8” [9.5mm] magnet mounting holes or the blind nuts
will not seat. It is best to use a center punch to create indentations for all drill locations.

Do not over tighten the magnet mounting screws. Use provided LOCTITE on screw threads.

. The two rubber washers stack one on top of the other and mount in between the strike and the

Z/—Bracket around the center strike mounting screw. Do not place the washers on the roll pins.

Make sure the strike plate floats and pivots around the center mounting screw. This compensates
for door misalignment. If the strike is mounted rigidly, the Magnalock will not hold.

Use of roll pin plastic bushings is recommended on metal doors. If the plastic bushings are not
used, drill 3/8" [9.5mm] diameter holes for the strike roll pins.

DO NOT PHOTOCOPY TEMPLATE (dimensions will change).

| T—— 4 X SCREW MOUNTING HOLES: 500
' 1.00 3/8” [9.5mm] DIA. WHEN BLIND NUTS ARE USED. [50.8mm]
| [25.4mm] 3/16" [4.8mm] DIA. WHEN BLIND NUTS NOT USED. ’

ALTERNATE MOUNTING HOLE: —

| 3/8" [9.5mm] DIA. WHEN BLIND NUTS USED. _ +
3/16" [4.8mm] DIA. WHEN BLIND NUTS NOT USED.

| , oo\ 1/2” [12.7mm] DIA. WIRE WAY HOLE 1 00
! (25 4rmm] (OMIT HOLE FOR "FG” VERSION) (25 4rmm]
MAGNET /_
{+}————————————————————————————————————— +}
45 .
[11.4mm]
! 7.00 [177.8mm]
r--r-----------------------------"-----=-=-=-"=-"=-"=-"-"-=-"="="="="="=""="=""="=""="=""="=""="="="="=-""= A
| |
| |
| |
I 6.00 [152.4mm] I
| |
: 1.375 2 X THRU Z—BRACKET: |
! [34.9mm] 3/8” [9.5mm] DIA. WITHOUT BUSHING. - !
! . 3/8” [9.5mm] DIA. !
| 1/2” [12.7mm] DIA. WITH BUSHING. THRU 7 BRACKET |
I I
| _ S S |
| |
| |
| 75 |
| 2.25 [57.2mm] 2.25 [57.2mm] (19, mm] !
| 1.375 |
! [34.9mm] !
l STRIKE PLATE l
I I
| |
| |
b CUT OUT ON DOTTED LINE === ========—=————————————— 4
~JECURITRON

P/N 500—11000-F

ASSA ABLOY



